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Income Tax Act 1961 came into
a. 1= April 1960
. 1% April 1962
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a. Section 10(1) %
¢. Section 10(2A) ' :
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20.

Income from other sources is a head of income
a. varies b. residuary
. business or profession d. Capital gains

Which of the following components of salary is fully taxable:-
a. QOvertime payment b. Bonus
c. Dearness Allowance d. Alltheabove

Which of the following allowances are fully exempted?

a. Allowance to member of UPSC b. Allowance to teacher or professor from
SAARC member states.
c. House Rent Allowance to judges d. All of the above

The presumptive taxation scheme cannot be adopted by a person who has made any
claim towards deduction under section:-
a. 10A b. 10AA

c. 10B,10BA d. All the above

What does Section 44 AD provides

a. Computing business profit b. Presumptive taxation scheme
¢. Business income d. Resident Individual

Identify the indirect tax from the given options.

a. GST, Corporate tax b. Custom Duty, Corporate Tax
¢. Income Tax, GST d. GST, Custom Duty

Which among the following is a Progressive Tax?

a. Custom Duty b. Development Surcharge

¢. Sales Tax d. Income Tax

Sugam is also known as:

a. ITR-1 b. ITR-2

c. ITR-4 d. ITR-6

Which form is used to file an application for obtaining PAN by an Indian resident?
a. Form 49B b. Form 49A

¢. Form 49 d. Form 49AA

In PAN Card , if the fourth letter is P, then it denotes:-

a. Company b. Firm

¢. Trust d. Individual

A return of income when notified as defective, has to be rectified within

a. 30 days b. 60 days

¢. 15 days d. The financial vear

How much is the penalty applicable if the return is filed after the due date sent before?
a. Rs. 8000 b. Rs. 10,000

¢ Rs. 5,000 d. Rs. 6,000
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[Dg§cr'igtive]

Time : 2 Hr. 30 Mins.

'h)

[ Answer question no.1 & any four (4) from the rest ]

Define Income tax. Write down the names of the major heads of
income. What are its advantages?

a)

b)

a)

b)

a)

b)

Mr. Y is the owner of a residential house which he had
acquired on 20t October, 2007 for Rs. 4, 50,000. He purchased
another residential house for Rs. 8, 90,000 on 28t January,
2019. He sold the first house on 12t January, 2020 for Rs.
15,80,000 (SDV Rs. 16, 00,000) through a broker who charged a
commission of 3%.

Compute the taxable amount of capital gains, if any, for the
assessment year, 2020-21.

[Note: CII for 2007-08: 129 and for 2019-20: 289)

Mr. Z purchased 1, 500 shares of the face value of Rs. 10 each
on 12.5. 2017 at Rs. 9 per share and paid Rs. 1200 as brokerage
and other expenses. He sold these shares on 20.3.2020 @ Rs. 16
per share and incurred Rs. 18, 00 as brokerage and other
expenses. FMV of these shares on 31.1.2018 was Rs. 11 each.
Compute his income from capital gain for the assessment year
2020-21.

Define Income from House Property. State the essential
conditions to be fulfilled under the head Income from House
Property.

Mr. B Lahiri of Lumding is the owner of a house property in
Guwabhati. The house is let out at a rent of Rs. 12,000 p.m. Its
Municipal valuation is Rs. 1,00,000 p.a. and Standard rent is Rs.
1, 10, 000 p.a. The Fair rent of the house is Rs. 1, 12,000. House
rent for two months is outstanding and there is no chance of its
recovery as per rules. Municipal tax paid Rs. 7,200. Compute
the Net Annual Value for the Assessment Year 2022-23.

What do you understand by the term Gratuity? Discuss the

amount of exemption in respect of Gratuity.

From the following information furnished by Mr. X, who had

retired from service has received Rs. 16, 50, 000/- as gratuity

from his employer (covered under the Payment of Gratuity

Act). Ascertain the taxable amount of received from the

employer. Other relevant particulars are:

1) Date of retirement 30.03.2020

2) Basic pay as on 01.03.2020 (being date of retirement) Rs,
89,000

3) Dearness Allowance Rs. 15,000 p.m.

4) Period of employment25 Years 4 months
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